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ESP IEC/IEEE

IEC/IEEE
VISUAL BASIC . ,
VisualBasic IEC
"Print"
( :.FRM)
Print "Text"
, ( :.BAS),
, , "Main” ,
Main.Print "Text".
GPIB.DLL
Visual Basic , GPIB.BAS( VB 6.0 VBIB-32.BAS)
DLL
, GPIB.BAS
Declare Function xxx Lib "gpib.dll" (...) As Integer
/ , ibsta
Declare Sub xxx Lib "rsib.dll" (...)
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IEC/IEEE

FSP

.G

DLL

, Vi sual Basic

- Dim Rd as String * 100
- Dim Rd as String
Rd = Space$(100)

i brd()
DLL

i1rd()

IEC/IEEE

"InitController"” "InitDevice"

Visual Basic , ” "(
( "GLOBALS.BAS),

Global analyzer As Integer
Global boardld As Integer

Public SUB InitController()

i ecaddress% = 20 ° | EC/ | EEE

CALL | BFI ND("GPI BO", boardl d¥%

CALL | BFI ND("DEV1", analyzer%

CALL | BPAD( anal yzer% iecaddress%
CALL | BTMJ(anal yzer% 11) ° 1
END SUB

*.BAS)

IEC/IEEE

REM R,
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IEC/IEEE

IEC

Public SUB InitDevice()
CALL | BWRT(anal yzer %
CALL | BWRT(anal yzer %
END SUB

I'*(]_S") ‘
"*RST")

REM
ON/OFF

*kkkkkk *kkkkk

Public SUB DisplayOn()
CALL | BWRT(anal yzer %
END SUB

" SYST: DI SP: UPD ON')

khkkkkkkkkkkkhkhkkkhhkkkkhkkkhxx

Public SUB DisplayOff()
CALL | BWRT(anal yzer %
END SUB

" SYST: DI SP: UPD OFF")

i Switch display off

1093.4820.12
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IEC/IEEE FSP

IEC/IEEE . "SYSTem:DISPLAY:UPDate OFF”

Public SUB PowerSave()

CALL | BWRT(anal yzer% "SYSTem PSAVe: HOLDof f 1") 1 CALL
| BART( anal yzer % "SYSTem PSAve ON')

END SUB

REM ***#ksxxx * ik kR KRRk Rk ik

PUBLIC SUB SimpleSettings()

CALL | BWRT(anal yzer % "FREQUENCY: CENTER 128MHz") ‘ 128MHz
CALL | BWRT(anal yzer % " FREQUENCY: SPAN 10MHZ") ‘ 10MHz
CALL | BWRT(anal yzer% " DI SPLAY: TRACE: Y: RLEVEL -10dBnt')

' -10dBm
END SUB
REM ks * Ak RIS AR Ak

CALL | BLOC(anal yzer % '
REM RRRR IR I Ik KRKIKRK
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ESP IEC/IEEE

PUBLIC SUB ReadSettings()

CFf requency$ = SPACES$(20) ‘ (20
CALL | BWRT(anal yzer% "FREQ CENT?") ‘

CALL | BRD(anal yzer% CFfrequency$) ‘

CFspan$ = SPACE$(20) ‘ (20
CALL | BWRT(anal yzer% "FREQ SPAN?") ‘

CALL I BRD(anal yzer% CFspan$) ‘

RLevel $ = SPACES$(20) ‘ (20
CALL | BWRT(anal yzer% "Dl SP: TRAC: Y: RLEV?")

CALL | BRD(anal yzer% RLevel $) ‘

PRI NT "Center frequency: "; CFfrequency$,

PRI NT "Span: "; CFspan$,

PRI NT "Reference level: "; RLevel $,

REM ey ok

PUBLIC SUB ReadMarker()
CALL I BWRT(anal yzer% "CALC: MARKER ON; MARKER: MAX")

‘ 1
MKmar k$ = SPACE$(30) ‘ (30
CALL | BWRT(anal yzer% " CALC. MARK: X?; Y?") °
CALL | BRD(anal yzer% MKnark$) ‘

PRI NT "Center frequency / level "; Mmark$,

REM *kkkkkkkhkk ** *kkkkkk *kkkkkkhkk
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IEC/IEEE FSP

PUBLIC SUB SweepSync()

I NI T: CONT OFF , I NI Ti at e[ : | MVedi at e]

CALL | BWRT(anal yzer% "IN T CONT OFF")

: *WAI
CALL I BWRT(analyzer% "ABOR; INIT: I MM *WAI ")

*OPC?
Opck$ = SPACES$(2) ' *OPC? -
CALL | BWRT(anal yzer% "ABOR INIT:I MV *OPC?")
CALL | BRD(anal yzer% OpcCk$) CO*OPC? "1"
REM -------- Third possibility: Use of *OPC
GPI B , "Di sable Auto Seri al
Pol |” | BCONF! "yes”.

CALL | BWRT(anal yzer% "*SRE 32") ‘ ESR

CALL I BWRT(anal yzer% "*ESE 1") ‘

j operation conplete bit

CALL | BWRT(anal yzer% "ABOR INIT:I MM *OPC') oPC
CALL Wit SRQ(boardl D% resul t% ‘

END SUB

1093.4820.12 7.6 E-2



ESP IEC/IEEE

GPIB , "Disable Auto Serial Poll" IBCONF "yes”.

SRO

PUBLIC SUB SetupSRQ()

CALL | BWRT(anal yzer% "*CLS") '

CALL | BWRT(anal yzer % "*SRE 168") STAT: OPER, STAT: QUES and ESR
CALL | BWRT(anal yzer % "*ESE 60") , ,

CALL | BWRT(anal yzer % " STAT: OPER: ENAB 32767") '’

CALL | BWRT(anal yzer % " STAT: OPER: PTR 32767") '

CALL | BWRT(anal yzer % " STAT: QUES: ENAB 32767") '’

CALL | BWRT(anal yzer % " STAT: QUES: PTR 32767") '

END SUB
REM Fkkkkekkkkkok Fkk ko
1. ( ):
SRQ ( ),
WaitSRQ() , ,
) SRQ . )
CALL Wait SRQ(boardl D% result%
' !
IF (result%= 1) THEN CALL Srq’ SRQ =>

1

1093.4820.12 7.7
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FSP

2. ( ):
SRQ

, SRQ ,

Hold() ,
” ),
result% =0

For i =1 To 10 ' Abort after nmx.

CALL Test SRQ(boardl D% result%
If (result% <> 0) Then

CALL Srq '

El se
Cal |
Endi f
Next i

If result% = 0 Then
PRI NT "Ti meout Error;

STOP
Endi f

Hol d( 20) !

Visual Basic
Visual Basic , DoEvents

Hold) |

1093.4820.12
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ESP IEC/IEEE

Rem EE R R I I I S S I R R R I R S R R R I R I I I R R I

Rem The waiting function bel ow expects the transfer of the desired
Remwaiting tine in mlliseconds. The keyboard and the nobuse remain
Rem operative during the waiting period, thus allow ng desired el enments
Rem to be controlled

Rem **’******************************************************************
Public Sub Hol d(del ayTi ne As Singl e)

Start = Timer ’

Do While Timer < Start + delayTine / 1000 °’

DoEvents '’ ,

Loop
End Sub

Rem LR R R R R RS EE SRR RS RS E R R R E RS R R SR EEREEREEEEREEEREEREEEEEEEEERESESEEESESERSES

The waiting procedure is activated simply by calling Hold.
Hold(< >)

A service request is processed in the service request routine.
Note: the variables userN% and userM% must be pre-assigned usefully!

N% M% !

Public SUB Srq()
ON ERROR GOTO noDevi ce '
CALL I BRSP(anal yzer% STB% ' ,

IF STB% > 0 THEN ' STB

SRQFOUND% = 1

I F (STB% AND 16) > 0 THEN CALL CQut put queue

IF (STB% AND 4) > 0 THEN CALL Error QueueHandl er

IF (STB% AND 8) > 0 THEN CALL Questi onabl est at us
| F (STB% AND 128) > 0 THEN CALL Operati onst at us

I F (STB% AND 32) > 0 THEN CALL Esrread

END | F

noDevi ce:

END SUB "End of SRQ routine

REM #¥xkkokick * Rk kokkokokkkokok ook Fekkkkkdkok Rk dokdokok

’ /
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IEC/IEEE

FSP

STB

Public SUB Outputqueue() 'Reading the output buffer

result$ = SPACE$(100)

CALL I BRD(anal yzer% result$)

PRI NT "Contents of Qutput Queue : "; result$
END SUB

REM *kkkkkk *kkkkk

Public SUB ErrorQueueHandler()

ERROR$ = SPACE$(100)

CALL | BWRT(anal yzer % " SYSTEM ERROR?")
CALL | BRD(anal yzer % ERRORS)

PRINT "Error Description : "; ERROR$
END SUB

REM B
SCPI

Public SUB Questionablestatus()

Ques$ = SPACE$(20) '’

CALL | BWRT(anal yzer% "STATus: QUESti onabl e: EVENt ?")
CALL I BRD(anal yzer% Ques$)

PRI NT "Questionable Status: "; Ques$

END SUB

REM *kkkkkk *kkkkk

Public SUB Operationstatus()

Oper $ = SPACE$(20)

CALL | BWRT(anal yzer% "STATus: OPERati on: EVENt ?")
CALL | BRD(anal yzer% Oper$)

PRI NT "Qperation Status: "; Oper$

END SUB

REM *kkkkkk *kkkkk
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ESP IEC/IEEE

Public SUB Esrread()
Esr$ = SPACE$(20) '’

CALL | BWRT(anal yzer% "*ESR?") ' ESR

CALL | BRD(anal yzer% Esr$)

IF (VAL(Esr$) AND 1) > 0 THEN PRI NT "Operation conplete"

IF (VAL(Esr$) AND 2) > 0 THEN PRI NT "Request Control "

IF (VAL(Esr$) AND 4) > 0 THEN PRI NT "Query Error"

IF (VAL(Esr$) AND 8) > 0 THEN PRI NT "Devi ce dependent error"”
I F (VAL(Esr$) AND 16) > O THEN

PRI NT "Execution Error; Program aborted"’ Qutput error nessage
STOP '

END I F

I F (VAL(Esr$) AND 32) > 0 THEN

PRI NT "Command Error; Program aborted"’

STOP ’
END | F

I'F (VAL(Esr$) AND 64) > 0 THEN PRI NT "User request"
I|F (VAL(Esr$) AND 128) > O THEN PRI NT "Power on"
END SUB

REM nnnnnnnnn *kkk LT *kkkhkkk *kkkkkkkhkk *
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FSP

FSP
The following settings are an example of how to modify the default setting of the FSP.
FSP , ,
().
IEC/IEEE
REM KRSk k iekeiokokokell
Public Sub SetupStatusReg()

IEEE 488.2

CALL | BWRT(anal yzer % "*CLS") ’
CALL | BWRT(anal yzer % "*SRE 168")

"for STAT: OPER-, STAT: QUES- and
"ESR registers

CALL | BWRT(anal yzer% "*ESE 61") ' Operation Conpl ete, Comand-,
' Execution-, Devi ce Dependent -
’ Query Error

' SCPI

CALL | BWRT(anal yzer % " STAT: OPER: ENAB 0") "’
CALL | BWRT(anal yzer % " STAT: QUES: ENAB 0")
End Sub

REM FRRER Y
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FSP

REM #trharhnk * xx Fkdkkkkkkkkkkokokekekokok Hhkk
Public Sub Setuplnstrument()
et FSP default setting
CALL SetupStatusReg '’

CALL | BWRT(anal yzer % "*RST") ’

CALL | BWRT(anal yzer % " SYST: DI SP: UPD ON') ' ON:

CALL | BWRT(anal yzer % "Dl SP: FORM SI NG e") '
CALL | BWRT(anal yzer % " DI SP: W ND1: SEL") A
CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’

CALL | BWRT(anal yzer % " FREQUENCY: CENTER 100MHz")
CALL | BWRT(anal yzer % "FREQ SPAN 1 Miz") ’

CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: RLEV -20dBni') '
CALL | BWRT(anal yzer% "I NP: ATT 10dB") ' (*)

y
CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: SPAC LOG') '
CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: SCAL 100dB")
CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: SCAL: MODE ABS") '

CALL | BWRT(anal yzer % " CALC: UNI T: POW DBM') y
CALL | BWRT(anal yzer % " DI SP: W ND: TRACL: MODE AVER') 1
CALL | BWRT(anal yzer % "AVER TYPE VID') LI N

CALL I BWRT(anal yzer % " SWE: COUN 10") '

CALL | BWRT(anal yzer % " DI SP: W ND: TRAC2: STAT OFF")

CALL | BWRT(anal yzer % " DI SP: W ND: TRAC3: STAT OFF") ' 3
CALL | BWRT(anal yzer % " CALC. MATH: STAT OFF") '

CALL | BWRT(anal yzer % "DETECTORL RMS") ' 1(*)
CALL | BWRT(anal yzer % "DET2: AUTO ON') ' 2 (*
CALL | BWRT(anal yzer % "DET3: AUTO ON') ' 3 (*
--------- Band width and sweep time
CALL | BWRT(anal yzer % " BAND: RES 100KHz") ' (*)
CALL | BWRT(anal yzer % "BAND: VID 1MHz") *

(*)
CALL | BWRT(anal yzer % "SWE: TI M 100ns") ' (*)
END SUB

~— ~—

REM B

1093.4820.12 7.13
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FSP

100MHz
30 dBm

: 100 kHz
. 150 %
Marker 1 and delta marker 2 are set one after the other to the highest maxima of the measurement
curve and then the frequency and level are read out. The default setting of the FSP can be used
for the
following measurements (Setupinstrument).

1 2

REM Kk koo KRKKKKKRK
Public Sub MarkerSearch()

result$ = Space$(100)

CALL Setuplnstrunent j Default setting

CALL | BWRT(anal yzer% "I NI T: CONT OFF")

CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB") '

CALL | BWRT(anal yzer % " CALC. MARK: STAT ON') ' 1

CALL | BWRT(anal yzer % " CALC. MARK: TRAC 1") ' 1 1
CALL | BWRT(anal yzer% "I NI T; *WAI ")

CALL | BWRT(anal yzer % " CALC. MARK: MAX; X?; Y?")

CALL I BRD(analyzer% result$) '

Print "Marker 1: ";result$
CALL | BWRT(anal yzer % " CALC: DELT2: STAT ON; MAX; MAX: LEFT")

2

CALL | BWRT(anal yzer % " CALC. DELT: MODE ABS") ' 2
CALL | BWRT(anal yzer % " CALC. DELT2: X?; Y?") ' 2-
CALL I BRD(anal yzer% result$)
Print "Delta 2: ";result$

' X
CALL | BWRT(anal yzer 9% " CALC: MARK: X: SLI M STAT ON; LEFT OHz; RI GHt 100. 05MHz")

CALL | BWRT(anal yzer % " CALC. DELT3: STAT ON; MAX; MAX: Rl GHt ")

3
CALL | BWRT(anal yzer % " CALC: DELT3: X?; Y?") 3:
CALL | BRD(anal yzer% result$) ' 0

Print "Delta 3: ";result$
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X

CALL | BWRT(anal yzer % " CALC. THR. STAT ON')
CALL | BWRT(anal yzer % " CALC. THR -35DBM') '
CALL | BWRT(anal yzer % " CALC. DELT3: STAT ON;, MAX; MAX: NEXT")
' 3
DS
CALL | BWRT(anal yzer % " CALC. DELT3: X: REL?; : CALC: DELT3: Y?")
CALL I BRD(analyzer% result$) ' 3
Print "Delta 3: ";result$

CALL | BWRT(anal yzer % " CALC. MARK2: FUNC: CENT") 2 ->
2
CALL | BWRT(anal yzer % " CALC. MARK2: FUNC: REF") ' = 2
Call ibwt(analyzer% "IN T;*WAl ") '
END SUB
REM Kk ok *

1093.4820.12 7.15
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FSP

REM

+ 400 kHz

50

10
>-60 dBm

FSP LIST PEAKS

Public Sub SpuriousSearch()
powerlist$ = Space$(1000)
freglist$ = Space$(1000)
count$ = Space$(30)

*kkkkk *kkkk

FSP

CALL
CALL

Set upl nst runent
| BART(anal yzer % "I NI T:

CALL
CALL

CALL
CALL

| BART(anal yzer % " CALC.
| BWRT( anal yzer % " CALC.

| BART(anal yzer % " CALC.
| BART(anal yzer % " CALC.

CALL
CALL
CALL

CALL
CALL

CALL
CALL
CALL
CALL

Pri nt
Print
Print

| BWRT( anal yzer % " CALC.
| BART(anal yzer % "I NI T;

| BWRT( anal yzer % " CALC. MARK: FUNC: FPE 10") '

CONT OFF")

MARK: X: SLI M STAT
MARK: X: SLI M LEFT

+400 kHz
THR: STAT ON')
THR -60DBM')

OoN)
99. 6MHz; R GHt 100. 4MHz")

—60 dBm

MARK: FUNC: FPE: SORT X')

*WAL") T

10

| BART(anal yzer % " CALC. MARK: FUNC: FPE: COUN?") '

| BRD( anal yzer %

count $)

"and read it

in

| BWRT( anal yzer % " CALC. MARK: FUNC: FPE: X?") '

| BRD( anal yzer% freqli

st$)

| BWRT( anal yzer % " CALC. MARK: FUNC: FPE: Y?")

| BRD( anal yzer % power |
"# of spurious:
"Frequenci es:
" Power :

" freql
";powerlist$

END SUB

ist$)

":count$ '

ist$ '

xxxxxxxx

1093.4820.12
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FSP

The following example is based on a signal with a level of at. The default setting of
the FSP can also be used for this measurement (Setuplnstrument). The objective of frequency
counting
is to determine the exact frequency of the signal at 100 MHz.
100 MHz-30 dBm : (

). 100MHz

REM Rk ook Hkkdkkk
Public Sub MarkerCount()
result$ = Space$(100)
CALL Setuplnstrunent ’

CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’
CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB") '’

CALL | BWRT(anal yzer % " CALC. MARK: STAT ON') 1

CALL | BWRT(anal yzer % " CALC. MARK: TRAC 1") 1 1
CALL | BWRT(anal yzer % " CALC: MARK: X 100MHz") 1 100 Mz
CALL | BWRT(anal yzer % " CALC. MARK: COUNT: RES 1HZ") 1 Hz

CALL | BWRT(anal yzer % " CALC: MARK: COUNT ON')
CALL | BWRT(anal yzer% "IN T; *WAl ") ’
CALL | BWRT(anal yzer % " CALC: MARK: COUNT: FREQ?")

CALL I BRD(anal yzer% result$) '
Print "Marker Count Freq: ";result$
END SUB
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FSP

( )

100MHz-20dBm :
, FSP

( ) , ()
REM RRRR KRR IR Ik
Public Sub RefFixed()
result$ = Space$(100)
CALL Setupl nstrunent

200 MHz, 300 MHz

CALL | BWRT(anal yzer% "I NI T: CONT OFF")

CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB") '’
CALL | BWRT(anal yzer % " CALC. MARK: STAT ON') 1
CALL | BWRT(anal yzer % " CALC. MARK: TRAC 1") ' 1
CALL I BWRT(anal yzer% "IN T; *WAl ") ’
CALL | BWRT(anal yzer % " CALC: MARK: MAX")
CALL | BWRT(anal yzer % " CALC. DELT: FUNC: FI X ON") ’

1 100 MHz

CALL | BWRT(anal yzer % "FREQ CENT 400MHz; Span 1Mt" )’
CALL | BWRT(anal yzer % "BAND: RES 1kHz") RBW
CALL | BWRT(anal yzer % " SWEEP: TI ME: AUTO ON') '’

CALL | BWRT(anal yzer % "1 NP: ATT: AUTO ON') '
CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: RLEV -50dBnt')
CALL | BWRT(anal yzer% "IN T; *WAl ")

CALL | BWRT(anal yzer % " CALC. DELT: MODE REL")

CALL | BWRT(anal yzer % " CALC. DELT: MAX; X?; Y?")
Call ibrd(analyzer% result$) '

Print "Deltamarker 1: "; result$
END SUB
REM #¥sssbidkbiihhbhhhbddh bbbk d Sk kddkkxdkkokk ekl *

1093.4820.12 7.18

E-2



FSP

, 1Hz
10kHz.
) 1Hz .
100MHz-30dBm . 10kHz
REM AFFRAK KA R AF KKK

Public Sub Noise()
result$ = Space$(100)
Tememee FSP
CALL SetupStatusReg ’

CALL I BWRT(anal yzer% "*RST")

CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’
CALL | BWRT(anal yzer % " FREQUENCY: CENTER 100MHz")
CALL | BWRT(anal yzer % " FREQ SPAN 100 kHz")

CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: RLEV -20dBm') '
CALL I BWRT(anal yzer% "I NI T; *WAl ") '

CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB") '

CALL | BWRT(anal yzer % " CALC. MARK: STAT ON') ' 1
CALL | BWRT(anal yzer % " CALC: MARK: TRAC 1") ' 1 1
CALL | BWRT(anal yzer % " CALC. MARK: MAX") ' 1 100 MHz

CALL I BWRT(anal yzer % " CALC: DELT: FUNC: PNO ON")

CALL | BWRT(anal yzer % " CALC: DELT: X 10kHz")

CALL | BWRT(anal yzer % " CALC. DELT: FUNC: PNO. RES?") "'
Call ibrd(analyzer% result$)
Print "Phase Noise [dBc/Hz]: "; result$

CALL | BWRT(anal yzer % " CALC. MARK: X 99. 96 MHz") ' 1
CALL | BWRT(anal yzer % " CALC. MARK: FUNC: NO S: RES?") '

Call ibrd(analyzer% result$)

Print "Noise [dBm Hz]: "; result$

END SUB

R E M kkkkkkhhkkkhkkkhhkkhhkhkhhkkhhrkhkhhkkhhkkhkhkkhhhkhhhkhkkhkrkhhkkrhhkhhhhrhkx
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( n-dB down)

n-dB-down ( 60dB 3dB
). 30kHz ( ).
REM Fkkkokkkkok
Public Sub ShapeFactor()
result$ = Space$(100)
Tememee FSP
CALL Setuplnstrunent ’
CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’
CALL I BWRT(anal yzer % " FREQ SPAN 1MHz") °’
CALL I BWRT(anal yzer % " BAND: RES 30kHz") ’
CALL I BWRT(anal yzer% "I NI T; *WAl ") ~’
T 60 dB
CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB") '’
CALL | BWRT(anal yzer % " CALC: MARK: STAT ON') ’ 1
CALL | BWRT(anal yzer % " CALC. MARK: TRAC 1") 1 1
CALL I BWRT(anal yzer % " CALC: MARK: MAX") 1 100 MHz

CALL | BWRT(anal yzer % " CALC. MARK:
CALL | BWRT(anal yzer % " CALC: MARK:

CALL I BRD(anal yzer%result$)
result60 = Val (result$)

--------- 3dB

FUNC: NDBD 60dB")’

FUNC: NDBD: RES?")’ 60 dB

CALL | BWRT(anal yzer % " CALC. MARK:
CALL | BWRT(anal yzer % " CALC: MARK:

CALL | BRD(anal yzer%result$)
result3 = Val (result$)

FUNC: NDBD 3dB")’

FUNC: NDBD: RES?")’ 60 dB

Print "Shapefaktor 60dB/3dB:. ";result60/result3
END SUB
REM #trbhrhnk * FRk Rk kkkkokkokekekekokok ko

1093.4820.12
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FSP

fso PN2  PN1 , fs1
PN1 PN2
fs1 =2 x fn1- fn2 (1)
fs2=2 x fn2- fn1 (2)

100MHz 110MHz —30 dBm
, 90MHz 120MHz . , ,
,FSP ( ).
REM *#rnrtsk ooy Fkkkk kb kKRR,
Public Sub TOI()
result$ = Space$(100)
’ FSP

CALL SetupStatusReg '’

CALL I BWRT(anal yzer% "*RST")

CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’

CALL | BWRT(anal yzer % " SYST: DI SP: UPD ON') ' ON:
" OFF:

CALL | BWRT(anal yzer % " FREQ STARt 85MHz; STOP 125 MHz") °’

CALL I BWRT(anal yzer % " DI SP: W ND: TRAC: Y: RLEV -20dBnt')
CALL I BWRT(anal yzer% "I NI T; *WAI ")
' TOI

CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB")
CALL | BWRT(anal yzer % " CALC. MARK: FUNC: TOI ON') ' TA

CALL | BWRT(anal yzer % " CALC. MARK: FUNC: TO : RES?") '
CALL | BRD(anal yzer% result$)

Print "TO [dBm: ";result$
END SUB
REM i *
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FSP

100MHz
: =30 dBm
: 100 kHz
150 %

REM i KXKKKK
Public Sub AMMod()

result$ = Space$(100)

CALL Setuplnstrunent ’

CALL | BWRT(anal yzer % "I NI T: CONT OFF")

CALL I BWRT(analyzer% "IN T; *WAl ") ’

CALL | BWRT(anal yzer % " CALC. MARK: PEXC 6DB")

CALL | BWRT(anal yzer % " CALC. MARK: STAT ON') ' 1

CALL | BWRT(anal yzer % " CALC. MARK: TRAC 1") ' 1 1

CALL | BWRT(anal yzer % " CALC. MARK: MAX; FUNC: MDEP ON') '’

CALL | BWRT(anal yzer % " CALC. MARK: FUNC: MDEP: RES?") ’
CALL I BRD(anal yzer% result$) 'Read out result

Print "AM Mod Depth [%4: ";result$
END SUB

R E M R s s e s s e s R o s R e e e e R e e e S e e e e T R s e e e T S e T e e s e s 2
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FSP

A 1 B 2 5 ,
. X
.5 : 120 MHz / -70 dB, 126 MHz/-40 dB, 127 MHz/-40 dB, 128 MHz/-10 dB,
129 MHz/-40 dB, 130 MHz/-40 dB, 136 MHz / -70 dB

daB y

REM bk ok KRRk ik
Public Sub LimitLine()
result$ = Space$(100)

’ FSP

xxxxx

CALL Setuplnstrunent '’
CALL I BWRT(anal yzer % " FREQUENCY: CENTER 128MHz; Span 10MHz")’
Call ibwt(analyzer% "D ag: Serv:|lnp Cal; CSO -30dBm') ’ Cal

CALL | BWRT(anal yzer % " CALC: LI Mb: NAVE ' TEST1' ")
CALL | BWRT(anal yzer % "CALC: LI M6: COMWM ' Upper limit’ ")

CALL | BWRT(anal yzer % " CALCL: LI Mb: TRAC 1") A
CALL | BWRT(anal yzer % " CALC2: LI Mb: TRAC 2") B
CALL | BWRT(anal yzer % " CALC: LI Mb: CONT: DOM FREQ') X
CALL | BWRT(anal yzer % " CALC. LI Mb: CONT: MODE ABS") '’ X
CALL | BWRT(anal yzer% "CALC. LIMc: UNIT DB") y

CALL | BWRT(anal yzer % " CALC: LI Mb: UPP: MODE REL") y

xlimt$ = "CALC: LI Mb: CONT

120MHZ, 126NMHZ, 127VHZ, 128MHZ, 129VHZ, 130MHz, 136MHz"

CALL IBWRT(analyzer% xlimt$) ° X

CALL | BWRT(anal yzer % " CALC:. LI Mb: UPP -70, - 40, - 40, - 20, - 40, - 40, - 70")
' y

CALL | BWRT(anal yzer % " CALC: LI Mb: UPP: THR - 75DBM') y (

)

x ly .
' A

CALL | BWRT(anal yzer % " CALCL: LI Mb: UPP: STAT ON') A 5
CALL | BWRT(anal yzer % " CALC1: LI Mb: STAT ON') ' A
CALL | BWRT(anal yzer% "I NIT; *WAI ") '
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CALL | BWRT(anal yzer % " CALCL: LI Mb: FAI L?")
CALL I BRD(analyzer% result$) 'Result: 1 (= FAIL)

Print "Limt Result Line 5: ";result$
’ A

CALL | BWRT(anal yzer% "*CLS") ’

CALL | BWRT(anal yzer% "IN T;*OPC")
CALL Wit SRQ(boardl D% status%

IF (status%= 1) THEN
CALL | BWRT(anal yzer % " STAT: QUES: LI ML: COND?") STAT: QUES: LI M t

CALL I BRD(anal yzer% result$) ’
IF ((Vval (result$) And 16) <> 0) THEN

Print "Limt5 failed"

ELSE

Print "Linit5 passed"

END | F

END | F

END SUB

REM *kkkhkkkkhkk *kkkk *kkkhkkk *kkkkkkhkk *kkk
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, 0dBm 800MHz IS95 . ACP
935.2MHz GSM

REM ikekokokokaeeeieebis kol
Public Sub ACP()
result$ = Space$(100)
’ FSP
CALL SetupSt atusReg '
CALL | BWRT(anal yzer % "*RST") '
CALL | BWRT(anal yzer % "I NI T: CONT OFF") ’
CALL | BWRT(anal yzer % " SYST: DI SP: UPD ON' )’ ON:
" OFF:

CALL | BWRT(anal yzer % " FREQ CENT 800MHz")

CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: RLEV 10dBni') ’

' 1: CDMA CP/ACP
CALL | BWRT(anal yzer % " CALC2: MARK: FUNC. POWN SEL ACP") ' ACP neasurenent on
CALL | BWRT(anal yzer % " CALC: MARK: FUNC: POW PRES F8CDVA") ' Sel ect CDMAB0O0 FWD
CALL | BWRT(anal yzer % " SENS: PON ACH: ACP 2") ' Sel ect 2 adjacent channel s
CALL I BWRT(anal yzer % " SENS: PON ACH: PRES ACP") ' Optimnm ze settings

CALL | BWRT(anal yzer % " SENS: PON ACH: PRES: RLEV') ' Optimi ze reference |evel
CALL | BWRT(anal yzer % " SENS: PON ACH: MODE ABS") ' Absol ute neasurenent

CALL | BWRT(anal yzer % " SENS: PON HSP ON') ' Fast ACP neasur enent

CALL I BWRT(analyzer% "IN T; *WAl ") ’

CALL | BWRT(anal yzer % " CALC2: MARK: FUNC. PON RES? ACP") ’
CALL I BRD(anal yzer% result$)

Print "Result (CP, ACP |ow, ACP up, At low, At up): "
Print result$
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' 2: GSM CP/ACP
result$ = Space$(100)

CALL | BWRT( anal yzer % " FREQ CENT 935. 2MHz") '
CALL | BWRT(anal yzer % " CALC. MARK: FUNC: PON SEL ACP") ' ACP
CALL | BWRT(anal yzer % " SENS: PON ACH:. ACP 1") '

CALL | BWRT(anal yzer % " SENS: PON ACH: BAND 200KHZ") ' 200 kHz
CALL | BWRT(anal yzer % " SENS: PON ACH: BAND: ACH 200KHZ" )"’ 200 kHz
CALL | BWRT(anal yzer % " SENS: PON ACH: SPAC 200KHZ") ' 200 kHz

CALL | BWRT(anal yzer % " SENS: PON ACH: PRES ACP") '
CALL | BWRT(anal yzer % " SENS: PON ACH: PRES: RLEV") :
CALL | BWRT(anal yzer % " SENS: PON ACH. MODE ABS") '

CALL I BWRT(anal yzer% "I NI T; *WAI ") ~

CALL | BWRT(anal yzer % " CALC. MARK: FUNC: POW RES? ACP") '’
CALL I BRD(anal yzer% result$)

Print "Result (CP, ACP |ow, ACP up): "
Print result$

result$ = Space$(100)
CALL | BWRT(anal yzer % " CALC: LI
CALL | BWRT(anal yzer % " CALC: LI

M ACP: ACH 30DB, 30DB")

M ACP: ACH. ABS —35DBM - 35DBM')
CALL | BWRT(anal yzer % " CALC. LI M ACP: ACH: STAT ON') '

CALL | BWRT(anal yzer % " CALC: LI M ACP: ACH: ABS: STAT ON')
CALL | BWRT(anal yzer % " CALC. LI M ACP ON") '

CALL | BWRT(anal yzer% "IN T; *WAl ")

CALL | BWRT(anal yzer % " CALC. LI M ACP: ACH. RES?") '
CALL I BRD(anal yzer% result$)

Print "Result Limt Check: ";result$
END SUB
REM *%k% *%* * *k%k
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REM i *
Public Sub OBW()

result$ = Space$(100)

’ FSP

CALL SetupSt at usReg '

CALL | BWRT(anal yzer % "*RST") '

CALL I BWRT(anal yzer% "I NI T: CONT OFF") '

CALL | BWRT(anal yzer % " SYST: DI SP: UPD ON') ' ON:
" OFF:

' GSM OBW FSP

CALL | BWRT(anal yzer % "FREQ CENT 935. 2MHz")
CALL I BWRT(anal yzer % " CALC: MARK: FUNC: POW SEL OBW ) ' OBW
CALL | BWRT(anal yzer % " SENS: PON ACH: BAND 200KHZ") 200 kHz
CALL I BWRT(anal yzer % " SENS: PON BW D 95PCT") '
CALL I BWRT(anal yzer % " SENS: PON ACH: PRES OBW )
CALL I BWRT(anal yzer % " SENS: PON ACH: PRES: RLEV")
CALL | BWRT(anal yzer % " SENS: PON NCOR OFF") ’
" OFF:
" ON:

CALL | BWRT(anal yzer% "I NI T; *WAI ") ’

CALL | BWRT(anal yzer % " CALC. MARK: FUNC: POW RES? OBW) '’
CALL I BRD(anal yzer% result$)

Print result$

END SUB

REM nnnnn *kkkkk *%
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,100MHz 300kHz . , ,rms

REM R,

Public Sub TimeDomainPower()
result$ = Space$(100)
' FSP

CALL SetupSt at usReg ’

CALL | BWRT(anal yzer % "*RST") ’

CALL I BWRT(anal yzer% "I NI T: CONT OFF")

CALL | BWRT(anal yzer % " SYST: DI SP: UPD ON') ' ON:
" OFF:

' FSP

CALL | BWRT(anal yzer % " FREQ CENT 100MHz; SPAN OHz")

CALL | BWRT(anal yzer % " BAND: RES 300kHz") ’

CALL | BWRT(anal yzer % " SWE: TI ME 200US") :

CALL | BWRT(anal yzer % " CALC. MARK: FUNC: SUVWM PPE ON') '’
CALL | BWRT(anal yzer % " CALC: MARK: FUNC: SUMM MEAN ON')
CALL | BWRT(anal yzer % " CALC. MARK: FUNC: SUVM RVS ON') ' RVB
CALL | BWRT(anal yzer % " CALC: MARK: FUNC: SUMMV SDEV ON') '

CALL | BWRT(anal yzer% "IN T; *WAl ") '
query$ CALC: MARK: FUNC: SUMM PPE: RES?; " ’
query$ = query$ + ": CALC: MARK: FUNC: SUW MEAN: RES?; "
query$ = query$ + ":CALC. MARK: FUNC: SUMM RVS: RES?; " ' RVB
query$ = query$ + ":CALC: MARK: FUNC: SUMM SDEV: RES?"

Cal | | BWRT(anal yzer% query$)

CALL I BRD(anal yzer% result$)

Print result$

END SUB

R E M B e s s s R e s s S e s e R e R e e e e S e R e e e e T R e e S T T e T S e e e s T S e e S e e e
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, DUT
,FSP ,
) , GSM

, DUT
, 1:50.

1.

Measurement Measurement Measurement
p F Time Time Time
Trigger I- i l l l
Threshold
-
# | -l e
i Period Period t
Time offset of
first pulse
Trace start
7-1
, 50(s 450(s 576.9(s
, 8
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REM HAAAFIIIKAAAA IR,
Public Sub MultiSumMarker()

result$ = Space$(200)

' FSP

CALL SetupSt at usReg ’

CALL I BWRT(anal yzer% "*RST")

CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’

CALL | BWRT(anal yzer % " SYST: DI SP: UPD ON') ' ON:

" OFF:
' FSP
CALL | BWRT(anal yzer % " FREQ CENT 935. 2\MHz; SPAN OHz") ’
CALL | BWRT(anal yzer % " DI SP: W ND: TRAC: Y: RLEV 10dBni') ’ 10 dB
CALL I BWRT(anal yzer% "I NP: ATT 30 dB") ' 30dB
CALL | BWRT(anal yzer % "BAND: RES 1MHz; VID 3MHz") ’
CALL | BWRT(anal yzer % "DET RMB") ' RV
CALL | BWRT(anal yzer% " TRI G SOUR VID") ' :
CALL I BWRT(anal yzer% "TRI G LEV: VID 50 PCT") : 50%
CALL | BWRT(anal yzer % " SVE: TI ME 50nms") ' el

CALL | BWRT(analyzer% "IN T; *WAl ") '
cnd$ " CALC: MARK: FUNC: MsUMV?

cmd$ cmd$ + "50US, " ’
cmd$ = cnd$ + "450US, " '
cmd$ = cnd$ + "576.9US, " '
cmd$ = cnd$ + " 8" '
CALL | BWRT(anal yzer % cnd$)

CALL I BRD(anal yzer% result$) ’

Print result$
END SUB

REM *kkkkk *kkkkk *kkk
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, DUT,DUT

Measurement Measurement Measurement
Time Time Time
o a— e E— e —
Tl'i'QI-ZI"J l ! \ l'
hreshaolgl

— t— - t
Trigaer Trigger Trigaesr
Offset Oiffset Ciffset
Trigaer Trigger Trigger
Sianal Signal Signal
7-2 .
) RMS
1.
« . )

In the example below, a GSM pulse sequence of 8 pulses is measured with 5 [s trigger offset,
434 (s measurement time/pulse, video trigger with 50% trigger threshold, and peak detection:
, 5[s 434(s ,50% ,

, 8
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REM Kok
Public Sub MultiBurstPower()

result$ = Space$(200)

' FSP

CALL SetupSt at usReg ’
CALL | BWRT(anal yzer % "*RST") '
CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’

CALL | BWRT(anal yzer % " SYST: DI SP: UPD OFF") ' OFF:

cmd$ = "MPOWNP "

cnmd$ = cnd$ + "935.2 MHZ, " ;

cmd$ = cnmd$ + "AMHZ, " ’

cnd$ = cnd$ + "434LUS, " '

cnd$ = cnmd$ + "VID, " ’

cmd$ = cnd$ + "50PCT," ;

cmd$ = cnd$ + "1US, " ’ , > 125 ns
cnd$ = cnmd$ + "PEAK, " '

cnd$ = cnd$ + "8" ’
CALL | BWRT(anal yzer% cnd$)

CALL I BRD(anal yzer% result$) ’
Print result$

END SUB

R E M R R e sy s s s R s s e S s e e R e e e e S S e e s e R e e S e e e e e e s T S e e e e e
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FSP , , ( ),
( , GSM + 200 kHz, * 400 kHz

)- , '

FSP ( SENSe:LIST ),

(PEAK,RMS,AVG)

10dB.

:10.00 dBm , 0 dBm
:20dB
:0dB
RBW: 1 MHz
VBW: 3 MHz
: NORMal
: 300 s
:100(s
, 45 %
935.2 MHz GSM 900 fundamental
1805.2 MHz GSM 1800 fundamental
1870.4 MHz GSM 900 2nd harmonic
2805.6 MHz GSM 900 3rd harmonic
3610.4 MHz GSM 1800 2nd harmonic
3740.8 MHz GSM 900 4th harmonic
5815.6 MHz GSM 1800 3rd Harmonic

The frequencies are selected in ascending order to minimize system-inherent waiting times
resulting

from frequency changes.
At each frequency point the peak power and the rms power are measured. The peak power and

the rms
power values are stored alternately in the results memory.

rms . rms
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REM RxRK IR I Ik
Public Sub FrequencyList()

result$ = Space$(500)

' FSP

CALL SetupSt at usReg ’

CALL | BWRT(anal yzer % "*RST") ’

CALL | BWRT(anal yzer% "I Nl T: CONT OFF") '

CALL | BWRT(anal yzer % " SYST: DI SP: UPD OFF") ’

' FSP

Call 1BWRT(analyzer% "TRIG LEV:VID 45PCT")
Cal |l 1BWRT(anal yzer% "LI ST: PONer: SET ON, ON, OFF, VI D, PGS, 100us, 0")

cmd$ = "LIST: PONer? "

cmd$ = cnd$ + "935. 2MHZ, 10dBm 20dB, OFF, NORM 1VHz, 3MHz, 300us, 0, "
cmd$ = cnd$ + "1805. 2VHZ, 10dBm 20dB, OFF, NORM 1MHz, 3MHz, 300us, 0, "
cmd$ = cnd$ + "1870. 4VHZ, 10dBm 20dB, OFF, NORM 1MHz, 3MHz, 300us, 0, "
cmd$ = cnd$ + "2805. 6\VHZ, 0dBm 20dB, OFF, NORM 1VHz, 3MHz, 300us, 0, "
cmd$ = cnd$ + "3610. 4VHz, 10dBm 20dB, OFF, NORM 1MHz, 3MHz, 300us, 0, "
cmd$ = cnd$ + "3740. 8VHz, 0dBm 20dB, OFF, NORM 1VHz, 3MHz, 300us, 0, "
cmd$ = cnd$ + "5815. 6MHz, 0dBm 20dB, OFF, NORM 1VHz, 3MHz, 300us, 0"

Cal | | BWRT(anal yzer% cnd$)

Call 1 BRD(analyzer% result$)

Print result$

END SUB

REM HRRRRRRR AR RK e

1093.4820.12 7.34 E-2



FSP

, DUT ,
.FSP ( ).
: Transtest
:dB
lin

10 MHz 0 dB
100 MHz 3 dB
1 GHz 7 dB
3 GHz 10 dB
REM Fkkkkkkkokok
Public Sub TransducerFactor()
CALL I BWRT(anal yzer % " CORR: TRAN: SEL ' TRANSTEST' ")
' "Transtest"”
CALL I BWRT(anal yzer% "CORR: TRAN.-UNIT 'DB ") ' ' dB’

CALL | BWRT(anal yzer % " CORR TRAN: SCAL LIN') ’
CALL | BWRT(anal yzer % " CORR TRAN: COW ' Si nul at ed cabl e correction'")

cmd$ = "CORR TRAN: DATA "
cnd$ cmd$ + "10MHz, O," '
cnd$ cmd$ + "100MHz, 3,"

cnd$ cmd$ + "3CGHz, 10"

cnu$ = cmd$ + "1GH, 7,”
CALL | BWRT(anal yzer % cnd$) '

CALL I BWRT(anal yzer % " CORR: TRAN: STAT ON') ’
END SUB

R E M R R T s e sy e e s e e s R R s S e e ey e e e s e e T e S e e S T S e S s T T e e 2 e s e
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ASCII , 0

ASCII .

( Visual Basic)
, FSP

R E M kkkkkkkkkkkkkkkhkkkhkkkkkkhhkkkhkkkkkkhkkkkhkkkhkkkhkkhkkkhkkkkkkhkhkkhkkkhkkkkkhhkkhkkkkkkhkkhkkkkkkkhkkkhkkkx

Public Sub ReadTrace()

DimtracebData(1250) As Single’
Dmdigits As Byte '
DimtraceBytes As I|nteger '
DimtraceVal ues As | nteger
ascii Result$ = Space$(25000) ' ASCI
result$ = Space$(100) '
startFreg$ = Space$(100) ’
span$ = Space$(100) ’

g FSP
CALL Set upl nst runent '
CALL | BWRT(anal yzer% "I NI T: CONT OFF") ’
CALL I BWRT(anal yzer% "IN T; *WAI ") ’

Call ibwt(anal yzer% "FREQ STARt ?") ’
Cal|l ibrd(anal yzer% startFreq$)
startFreq = Val (startFreg$)

Call ibwt(anal yzer% "FREQ SPAN?") ’
Cal | ibrd(anal yzer % span$)

span = Val (span$)
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Call ibwt(analyzer% "FORMAT REAL, 32")
Call ibwt(analyzer% "TRACL? TRACEl1") ' 1
Call ilrd(analyzer% result$, 2) ’

digits = Val (Md$(result$, 2, 1)) ’

result$ = Space$(100) '

Call ilrd(analyzer% result$, digits)
traceBytes = Val (Left$(result$, digits)) ’

Call ibrd32(analyzer% traceData(0), traceBytes) '’
Call ilrd(analyzer%, result$, 1) 'Read the terminator <NL>
' /

traceVal ues = traceBytes/ 4 ' = 4 bytes
stepsi ze = span/traceValues '’

For i = 0 To traceValues - 1

Print "Value["; i; "] ="; startFreqg+stepsize*i; ", "; traceData(i)
Next i

Call ibwt(anal yzer% "FREQ SPAN OHz")

CALL | BWRT(anal yzer% "I NIT; *WAI ") '

' ASCII

Call ibwt(analyzer% "FORVAT ASCI ") ' ASCl |
CALL ibwrt(anal yzer% "TRACL? TRACEl1") ' 1
CALL ibrd(anal yzer% ascii Result$)

Print "Contents of Tracel: ",asciiResult$ '

END SUB

R E M kkkkkkkkkkkkkkkkkkhkkkkkkhkkkhkkkkkkhkkkhkkkhkkkkkhkkkkkkkkkkhhkkhkkkhkkkkkkhkhkkkhkkkkkkkkkhkkkkkkkhkkkkkx
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(I/Q

)

FSP , ,FSP
.(FFT, ).
7-3 )
300kHz 10MHz
/ 32MHz (20.4MHz)
: : : : 2,
15.625 kHz 32 MHz. , ,
I/Q , 128k
Digital down conversion
+ decimation
Analog AD _\ * o ! ng”}?w | data
IF filter convertar %ms
Erictis AW P 177 K M-
Bglagv;;iat:s £m —\ * 2 Memory
I MHs 22 MHz o | 128k S
3 MHz sampling :
10 MHz clock sampling rate  }
neooar o Tree
Fig. 7-3
32 MHz 9.6 MHz
16 MHz 7.72 MHz
8 MHz 4.8 MHz ,
4 MHz 2.8 MHz
2 MHz 1.6 MHz
1 MHz 800 kHz
500 kHz 400 kHz
250 kHz 200 kHz
125 kHz 100 kHz
62.5 kHz 50 kHz
31.25 kHz 25 kHz
15.625 kHz 12.5 kHz
(21.4 MHz , 32 MHz ), 10MHz
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10MHz ( +5 MHz
800kHz
MHz
fimage=2- (fcenter+5.4MHZ)- fsignal

fimage = MHz

feenter = MHz

fsignal = MHz

10MHz . (

ASCII ,

1.

2.

3.

Visual Basic (

1093.4820.12

) :

5.4MHz
300kHz)

1/Q
ASCII

FSP 1/IQ  (2*128k* 4 byte).
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R E M kkkkkkkkkkkkkkkhkkkkhkkkkkkhhkkkhkkkkkhkkkhkkkhkkkhkkhkkkhkkkkkhkhkkkhkkkkhkkkkkhkhkkkhkkkkkkhkkkhkkkkhkkkhkkkkkkx

Public Sub ReadlQData()
Dim | Data(131072) As Single '’ I (= 32*1024 byte)
Dim QDat a(131072) As Single ’ Q (= 128*1024 byte)
Dmdigits As Byte '’

Dm | @Bytes As Long '’

Dim | Qval ues As Long ’

ascii Result$ = Space$(6553600) 'ASCII 1/Q (= 25*2*1024 byte)

T FSP

CALL Set upl nstrunent ’

CALL | BWRT(anal yzer % "TRAC. | Q STAT ON') °’ I/Q ;

" TRAC: | Q@ SET! , (=128 * 1024 - 512) 10 Mz RBW
'32 MHz , , 0 s

CALL | BWRT(anal yzer % "TRAC: | Q SET NORM 10MHz, 32MHz, | MM PCS, 0, 130560")
Call ibwt(analyzer% "FORMAT REAL, 32") '

Call ibwt(analyzer% "TRAC.|Q DATA?") ' 1/Q
Call ilrd(analyzer% result$, 2) '
digits = Val (Md$(result$, 2, 1))
result$ = Space$(100) '

Call ilrd(analyzer% result$, digits)
| Byt es Val (Left$(result$, digits)) '

| Bytes = | Bytes /| 2 '

Call ibrd32(analyzer% IData(0), |@ytes) "I
Call ibrd32(analyzer% Qata(0), |1@Bytes) 'Q
Call ilrd(analyzer%, result$, 1) 'Read delimiter <NL>

e /e
| Qval ues = | Bytes/ 4 ' = 4 bytes

For i = 0 To IQvalues - 1

Print "I-Value["; i; "] ="; |Data(i)

Print "QValue["; i; "] ="; Qbata(i)

Next i

T ASCII

Call ibwt(analyzer% " FORMAT ASCII") ASCI |

Call ibwt(analyzer% "TRAC | Q DATA?") 1/Q

CALL ibrd(anal yzer% ascii Result$)

CALL | BWRT(anal yzer % " TRAC: | @ STAT OFF") ' 1/Q
END SUB

R E M kkkkkkkkkkkkkkkhkkkhkkkkkkhhkkhkkkkkhkkkhkkkhkkkhkkhkhkkhkkkkkkhkhkkkhkkkkhkkkhkkkhhkkhkkkkkkhkkhkkkhkhkkkhkkkhkkkx
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1/Q
1/Q ,FSP . 1IQ
1. , , )
2. DUT FSP ,
3. 32MHz, ,
) L Y O
' FSP
CALL Set upl nst runent ’
CALL | BWRT(anal yzer% "TRAC: | Q STAT ON') ' 1/Q ;
" TRAC: | Q SET!
' 10 MHz RBW (= 128 * 1024 - 512),
'32 M1z , , 0s .
CALL | BWRT(anal yzer % "TRAC: | Q@ SET NORM 10MHz, 32MHz, EXT, PGS, 0, 130560")
CALL | BWRT(anal yzer % "TRAC: | Q AVER ON') ' 1/Q
CALL | BWRT(anal yzer % "TRAC: | Q AVER: COUN 10") ' 10
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OFF
R E M kkkkkkkkkkkkkkkkkkkkkhkkkhkhhhkhkhkkkkkkkkhkhkhkhhkhhkkhkkkkkkkhkhhhhhkkkkkkkkkkkhkkhkhhhhkkhkkkkkkkhhhhkhkrkx
Public Sub StoreSettings()
' , D: \ USER\ DATA " TEST1” .

' FSP
Cal | Set upl nstrument

CALL | BWRT(anal yzer% "I NI T: CONT OFF") '
CALL I BWRT(anal yzer% "IN T; *WAI ) '

CALL |BWRT(anal yzer % "MVEM SEL: H\S ON') ’
CALL | BWRT(anal yzer % " MVEM SEL: TRAC OFF")
CALL | BWRT(anal yzer % "MVEM SEL: LI N: ALL OFF")

CALL | BWRT(anal yzer % " MVEM COW ' Test Setup'")

CALL | BWRT(anal yzer % "MVEM STOR: STAT 1,’ D:\ USER\ DATA\ TEST1' ")

CALL | BWRT(anal yzer % "*RST")
END SUB

R E M kkkkkkkkkkkkkkkhkkkhkkkkkkhhkkkhkkkkkhkkkhkkkkhkkkkkhkkkkhkkkkkhkhkkhkkkkhkkkkkhkhkkkhkkkkkkhkkkhkkkhkkkkhkkkhkkkx

1093.4820.12 7.42 E-2



FSP

, D:\USER\DATA "TESTY1”
R E M kkkkkkkkkkkkkkkkkkkkkhkkkkhkkhkhkkkkkkkkkkkkhkkhkkkkkkkkkkkkhkkhkhhhkkhkhkkkkkkkkkkhhhhhhhkkkkkkkihkikx
Public Sub LoadSettings()
' D: \ USER\ DATA " TEST1”.

Call SetupStatusReg '

CALL | BWRT(anal yzer % " MVEM LOAD: STAT 1,’ D:\ USER\ DATA\ TEST1' ")

CALL | BWRT(anal yzer % " DI SP: TRACL: MODE WRI TE") ’ Cr/iWite
CALL I BWRT(anal yzer% "IN T; *WAI ) '
END SUB

R E M kkkkkkkkkkkkkkkhkkkkhkkkkkhkkkhkkkkkhkkkhkkkhkkkhkhkkkkhkkkkkhkhkkkhkkkkhkkkhkkkhkkkkhkkkkkkhhkkhkkkkkkkhkkkk

, . , D:\USER\DATA TEST1 STARTUP
RECALL , , *RST, PRESET . ,
*RST
R E M kkkkkkkkkkkkkkkkkkkkkhkkhkhhhhkhkhkkkkkhkkhkhhkhhhhhhhkhkkkkkkhkkhhhhhhhhhkhkkkkkrkkrhhhhhhhhkkkxkkhkkrrrkx
Public Sub StartupRecallSettings()
' FSP
CALL | BWRT(anal yzer % "*RST")

Call SetupStatusReg '
T Select startup recall data set
CALL | BWRT(anal yzer % "MVEM LOAD: AUTO 1, ' D: \ USER\ DATA\ TEST1' ")

CALL | BWRT(anal yzer % "*RST")
END SUB

R E M kkkkkkkkkkkkkkkhkkkhkkkkkkhhkkhkkkkkkhkhkkhkkkhkkkhkkhkkkkhkkkkkhhkkkhkkkkhkkkkkhkkkhkkkkkkkkkkhkkkkkkkhkkk
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, D:\USER\DATA TEST1.SET

R E M kkkkkkkkkkkkkkkhkkkhkhkkkkkkhhkkkkhkkkkkkhkkkhkkkhkkkhkkhkkkhkkkkkkhkhkkhkkkhkkkkkhhkkhkkkkhkkhkkhkkkkkkkhkkkhkkkx

Public Sub ReadFile()

Dmdigits As Byte ’
DmfileBytes As Long '
result$ = Space$(100) '

Call SetupStatusReg '

Call ibwt(anal yzer% "MVEM DATA? ' D:\ USER\ DATA\ TEST1. SET" ")

Call ilrd(analyzer% result$, 2) '
digits = Val (Md$(result$, 2, 1))
Call ilrd(analyzer% result$, digits)

fileBytes = Val (Left$(result$, digits))

Fil eBuffer$ = Space$(fil eBytes) '

Call ilrd(analyzer% FileBuffer, fileBytes) ’
Call ilrd(analyzer%, result$, 1) 'Read terminator <NL>

Qoen "TEST1. SET" For Qutput As #1

Print #1, FileBuffer; ' ;
Cl ose #1

END SUB
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, TEST1.SET
D:\USER\DATA\DUPLICAT.SET.
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Public Sub WriteFile()

Fil eBuffer$ = Space$(100000) ’
Dmdigits As Long '
DmfileBytes As Long '
fileSize$ = Space$(100) ’
result$ = Space$(100) '

Call SetupStatusReg '

fileBytes FileLen("H \work\vb\testl.set") ’

fileSize$ = Str$(fil eBytes)

digits = Len(fileSize$) - 1 '

fileSize$ = Right$(fileSize$, digits)

FileBuffer$ = "#" + Right$(Str$(digits), 1) + fileSize$

Open "H:\wor k\ vb\ TEST1. SET" For Binary As #1
FileBuffer$ = FileBuffer$ + Left$(Input(fileBytes, #1), fileBytes)
Cl ose #1

Call ibwt(analyzer% "SYST: COW GPI B: RTER EQl ") '

Call ibwt(analyzer% "MVEM DATA ' D:\ USER\ DATA\ DUPLI CAT. SET' ," +
Fi | eBuf fer$) '

END SUB
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S o

100MHz —20dBm
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Public Sub HCopy()
DI M Devi ces(100) as string

FOR i

= 0 TO 49

Devi ces$(i) = Space$(50) °’

NEXT

i
FSP

CALL
CALL
CALL
CALL

Set upSt at usReg
| BWRT(anal yzer % " *RST")

| BWRT(anal yzer %" | NI T: CONT OFF")
| BWRT( anal yzer % " SYST: DI SP: UPD ON')

CALL
CALL
CALL

| BART(anal yzer % " FREQ CENT 100MHz; SPAN 10MHz")
| BART(anal yzer % " DI SP: W ND: TRAC: Y: RLEV -10dBnt")

| BWRT(anal yzer% "I NI T; *WAI ")

CALL

CALL

| BART( anal yzer % " SYST: COM PRI N: ENUM FI RSt ?") °

| BRD( anal yzer % Devi ces$(0))

PRI NT "Drucker 0: "+Devices$(0)

For i

CALL | BWRT(anal yzer % " SYST: COMM PRI N: ENUM NEXT?")

CALL | BRD(anal yzer % Devi ces$(i))

| F Left$(Devices$(i),2) = """ THEN GOTO Sel ect Devi ce
PRI NT "Drucker"+Str$(i)+": " Devices$(i)

NEXT i

=1to 99
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CALL | BWRT(anal yzer % " SYST: COW PRI N: SEL "+ Devices(6))’  #6
8 CALL | BWRT(anal yzer % "HCOP: DEST ’ SYST: COWM PRIN ")

CALL | BWRT(anal yzer % " HCOP: DEV: LANG GDI ") ' A&l
' ( / ) /
CALL | BWRT(anal yzer % " HCOP: PAGE: ORI PORTrait") '
CALL | BWRT(anal yzer % "HCOP: DEV: COL OFF") '

CALL | BWRT (anal yzer % "HCOP: | TEM ALL") '
"CALL | BWRT (anal yzer % "HCOP: | TEM W ND1: TRAC: STAT ON') ’

"CALL | BWRT (anal yzer % " HCOP: | TEM W ND2: TRAC: STAT ON') ' A B

CALL | BWRT (anal yzer% "*CLS") ’
CALL | BWRT (anal yzer % "HCOP: | Mvedi at e; *OPC") ’
CALL Wit SRQ(boardl D% resul t% '
IF (result% = 1) THEN CALL Srq ' SRQ =>

' WMF (BMP)
CALL | BWRT(anal yzer % " HCOP: DEST ' MVEM ") ’

CALL | BWRT(anal yzer % " HCOP: DEV: LANG WVF") ’ WWF
"CALL | BWRT(anal yzer % " HCOP: DEV: LANG BMP") ’ BWP
CALL | BWRT(anal yzer % "MVEM NAME ' D: \ USER\ DATA\ PRI NT1. WWF' ")

CALL I BWRT (anal yzer% "*CLS") '

CALL | BWRT (anal yzer % "HCOP: | Mvedi at e; *OPC") '

CALL Wit SRQ(boardl D% resul t% '

IF (result% = 1) THEN CALL Srq ' SRQ =>

END SuB
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